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Translation in English
Sub: Micro Economics (Part-1) (EC-101)

Instructions:

1) All Questions are Compulsory.

2) Figuresto theright indicate full marks.

3) Inthe case of any doubt the Marathi version shal be held to be authentic and
final.

4) Draw the diagram with pencil wherever necessary.

5) While writing answers the respective question numbers must be mentioned in
the Answer Book.

Fill in the blanks with the correct option. (20)
1) Sources have -------- USes.
a) dternative b) perfect
c) lower d) limited
2) Utility meansthe ------- of commodity to satisfy a human wants.
a) capability b) power
c) ability d) skill
3) Thedemand of goods normally depend on the --------- of the goods.
a) taste b) colour
¢) shape d) price
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4) Teapowder and milk these two are ---------- goods.

a) complementary b) substitute
c) costly d) durable

5) The dlope of indifference curseis ------------------
a) negative b) positive
C) Cross d) round

6) The price line represents the various combinations of ---------- goods.
a) ten b) five
c) two d) twenty

7) - means the total amount of quantity produced by the producer.
a) Supply b) Stock
c) Sde d) Demand

8) The price of commodity is determined by the ------------- of that commodity
a) quality and quantity b) taste and colour
¢) demand and supply d) shape and switness

9) Averagerevenue = total ----------- + tota output sold
a) capital b) investment
C) price d) revenue

10) When marginal cost is constant then------ cost also remain constant.
a) average b) total
¢) sailing d) purchasing

Q.2. Answer the following questions in detail. (AnyThree) (30)

1) Explain the basic problems at national level.

2) Explain the concept of utility and marginal utility.

3) Explainthelaw of demand.

4) Explain the expansion and contraction in demand due to chargein price
5) What is meant by indifference curve?

Q.3. Answer the following questions in brief. (AnyTwo) (10)
1) Explain the limitations of market mechanism.
2) What is meant by income demand?
3) Explainthelaw of supply.
4) Statethe interna advantages of large scale production.

Q.4. Write short notes. (Any Two) (20)
1) Determinant factors of elasticity of demand.
2) Priceline
3) Changesin supply
4) Various concepts of costs
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